MAVERICK POLES AND STRUCTURE, LLC
FORT WORTH, TX
PHONE 817-441-9688
ey WWW.MAVERICKPOLES.COM

Round Side-Mount Bullhorn Brackets

——

45"

\ 30"
—AN\—r ‘ T
LT !
L 2" SCH. 40 PIPE
SINGLE BOLT
= SIMPLEX CONNECTION
,g\/_;
BHR-200
18" ‘
—AN—r ‘
T Round Side-Mount Bullhorn Brackets
] 12 Catalog No. EPA Weight
o Number Fix (ft?) (1bs)
- " BHR-100 1 0.54 11
SINGLE BOLT 2" SCH. 40 PIPE BHR-200 2 1.25 22
SIMPLEX CONNECTION
,J\ﬁ;
BHR-100

POLES AND STRUCTURE, LLC.

817-441-9688




MAVERICK POLES AND STRUCTURE, LLC
FORT WORTH, TX
PHONE 817-441-9688
WWW.MAVERICKPOLES.COM

GRS A BTRUGCTIINE. LLE.

Round Top-Mount Bullhorn Brackets

ﬁ#ﬁl_ﬁ T
ﬁ *

J |

\ 2" SCH 40 PIPE

2 1/2" SCH 40 PIPE TO
ACCEPT 2" PIPE TENON

3/8"X 1" SET SCREW
3 PLACES AT 120°

BHR-218

I |
n L
20 [ m|
( |
i LS (i< \—REMOVABLE
| CAP
No_s
2" SCH 40 PIPE —/

3/8"X 1" SET SCREW
3 PLACES AT 120°

2 1/2" SCH 40 PIPE TO
ACCEPT 2" PIPE TENON

BHR-290

i |
| |
L -
| |
3/8 X 1" SET SCREW 21/2" SCH 40 PIPE TO

3 PLACES AT 120° ACCEPT 2" PIPE TENON

BHR-318

o REMOVABLE !

| |

! i cap A\ || |
(- L
(- it
- T il
\ |

\\

N

|

| 2" SCH 40 PIPE
\ 21/2" SCH 40 PIPE TO

ACCEPT 2" PIPE TENON

3/8"X 1" SET SCREW
3 PLACES AT 120°

BHR-312

Round Top-Mount Bullhorn Brackets

Catalog No. EPA Weight
Number Fix (ft?) (1bs)

BHR-218 2 1.350 24
BHR-290 2 1.316 28
BHR-318 3 2.000 35
BHR-312 3 1.480 33




MAVERICK POLES AND STRUCTURE, LLC

FORT WORTH, TX
PHONE 817-441-9688
s e e WWW.MAVERICKPOLES.COM
Round Top-Mount Bullhorn Brackets

2av REMOVABLE \ 24" \

REMOVABLE CAP TYP. CAP \\ ‘ TYP ‘
i T 11
\\\ ) ( //’ ¢ \\\\ u /// ‘

A \" 2/ SCH 40 PIPE i \— 2' SCH 40 PIPE
/8 X 1" SET SCREW 21/2° SCH 40 PIPE TO 3/8" X 1 SET SCREW \_ 2 1/2" SCH 40 PIPE TO
3 PLACES AT 120° ACCEPT 2" PIPE TENON 3 PLACES AT 120° ACCEPT 2' PIPE TENON
BHR-390 BHR-490
i

\ 2" SCH 40 PIPE \}J
. . 3/8"X 1" SET SCREW \- 2 1/2" SCH 40 PIPE TO
3/8"X 1" SET SCREW 2 1/2" SCH 40 PIPE TO 3 PLACES AT 120° ACCEPT 2" PIPE TENON

3 PLACES AT 120° ACCEPT 2" PIPE TENON

Z
2
4 P

»L;

BHR-412 BHR-590

Round Top-Mount Bullhorn Brackets

Catalog No. EPA Weight
Number Fix (ft?) (Ibs)

BHR-390 3 1.79 39
BHR-490 4 1.79 50
BHR-412 4 1.48 36
BHR-590 5 1.79 54




MAVERICK POLES AND STRUCTURE, LLC
FORT WORTH, TX
PHONE 817-441-9688
MRS At FERRICTUNE: LLE WWW.MAVERICKPOLES.COM

Round Top-Mount Bullhorn Brackets

—

30
REMOVABLE CAP \ h TYP. 4“
I )

&[0 JJT

2" SCH-40 PIPE
\__ 2 1/2" SCH 40 PIPE TO
3/8" X 1" SET SCREW ACCEPT 2" PIPE TENON

3 PLACES AT 120°

BHR-418

30" |
TYP. |

(S VS

! | \ 2" SCH-40 PIPE
/6 X 1 SET SCREW \ 21/2" SCH 40 PIPE TO

3 PLACES AT 120° ACCEPT 2" PIPE TENON

I

BHR-518

Round Top-Mount Bullhorn Brackets

Catalog No. EPA Weight
Number Fix (ft?) (1bs)
BHR-418 4 2.54 48

BHR-518 5 3.53 61




MAVERICK POLES AND STRUCTURE, LLC
FORT WORTH, TX
PHONE 817-441-9688
FOAEE A FTRRETOME L WWW.MAVERICKPOLES.COM

Round Top-Mount Spoke Arm Brackets

18" REMOVABLE ‘
/— REMOVABLE TOP CAP TOP CAP ‘

|

||

|
____________________ ! Al
| 2" SCH 40 PIPE ‘
|
2" SCH 40 PIPE —/ ! |
Il |

||

||

O
Vi
b 3/8" X 1" SET SCREW ___/ 21/2" SCH 40 PIPE TO
4/8'X 1" SET SCREW — 2 1/2' SCH 40 PIPE TO 3 PLACES AT 120° ACCEPT 2 3/8" 0.D. TENON
3 PLACES AT 120° ACCEPT 2 3/8" 0.D. TENON
SPR-118 SPR-218

24" REMOVABLE

24" REMOVABLE TYP. 4‘1 y/ TOPCAP
TYP. 4’1 [ TOP CAP | ‘

|
|
‘ 1
| |
| 2" SCH 40 PIPE _/ !
A | ! | o
! \
|
1

|
|
|
|
1

2" SCH 40 PIPE 5 3/8"X 1" SET SCREW __/ 2 1/2" SCH 40 PIPE TO
ol 3 PLACES AT 120° ACCEPT 2 3/8" 0.D. TENON
3/8"X 1" SET SCREW 2 1/2" SCH 40 PIPE TO
3 PLACES AT 120° ACCEPT 2 3/8" O0.D. TENON
SPR-290 SPR-390

Round Top-Mount Spoke Arm Brackets

Catalog No. EPA Weight
Number Fix (ft?) (Ibs)
SPR-118 1 0.59 11
SPR-218 2 0.92 17
SPR-290 2 0.88 20
SPR-390 3 1.13 28




PRI e ETRRAC TN, LLG.

MAVERICK POLES AND STRUCTURE, LLC
FORT WORTH, TX
PHONE 817-441-9688
WWW.MAVERICKPOLES.COM

Round Top-Mount Spoke Arm Brackets

18"
REMOVABLE CAP ’—— iy W

2" SCH 40 PIPE

3/8" X 1"SET SCREW /
3 PLACES AT 120°

SPR-312

2 1/2" SCH 40 PIPE TO
ACCEPT 2 3/8" O.D. TENON

2" SCH 40 PIPE J

3/8"X 1"SET SCREWJ \ 2 1/2" SCH 40 PIPE TO
3 PLACES AT 120° ACCEPT 2 3/8" O.D. TENON

(
|
|
|
L

SPR-412

REMOVABLE 24"
TOP CAP "7 TYD. ﬁ

I o]

]
2" SCH 40 PIPE—/ ]

i
I
P
3/8"X 1" SET SCREW /
3 PLACES AT 120°

SPR-490

2 1/2" SCH 40 PIPE TO
ACCEPT 2 3/8" O.D. TENON

2" SCH 40 PIPE —/

3/8"X 1"SET SCREW___/ \ 2 1/2" SCH 40 PIPE TO
3 PLACES AT 120° ACCEPT 2 3/8" 0.D. TENON

1o}

i

SPR-590

Round Top-Mount Spoke Arm Brackets

Catalog No. EPA Weight
Number Fix (ft) (Ibs)
SPR-312 3 0.83 22
SPR-412 4 0.90 23
SPR-490 4 1.02 35
SPR-590 5 1.10 36




MAVERICK POLES AND STRUCTURE, LLC
FORT WORTH, TX
PHONE 817-441-9688
ey e WWW.MAVERICKPOLES.COM

Upswept Arms
I|Xl| ={
2" SCH 40 PIPE 36"

T T
| |
| |
| |
| QI

CENTER HUB TO ACCEPT

2" SCH 40 PIPE TENON

3/8' X 1" SET SCREW

UPS-118-0X 3 PLACES AT 120°

g 36"
\—2" SCH 40 PIPE l

o
3/8"X 1" SET SCREW AN CENTER HUB TO ACCEPT
3 PLACES AT 120° 2" SCH 40 PIPE TENON

UPS-218-0X

Top-Mount Upswept Arms

Catalog Number “X"(ft) EPA (ft?) Weight (lbs)
UPS-118-04 4 1.30 24
UPS-118-06 6 1.70 31
UPS-118-08 8 2.10 37
UPS-218-04 4 2.40 43
UPS-218-06 6 3.20 56
UPS-218-08 8 4.00 69
UPS-312-04 4 2.80 62
UPS-312-06 6 3.40 81
UPS-490-04 4 2.90 81




MAVERICK POLES AND STRUCTURE, LLC
FORT WORTH, TX
PHONE 817-441-9688
o I LA WWW.MAVERICKPOLES.COM

Upswept Arms

3/8"X 1"SET SCREW __/ ENTER HUB TO ACCEPT
UPS-312-0X 3 PLACES AT 120° (zj SCH 40 P[IIPE 'I(‘)ENCO:%I

— CENTER HUB TO ACCEPT
UPS-490-0X 3 PLACES AT 120° 2" SCH 40 PIPE TENON




Base Covers - HARDMOLDEDPLASTIC

(Tiysll_) f—— 5 3/8" ———=
[ U U
)| ol —
FBS-***-RND

(Tlg') la—5-15/16" (TYP.) —

1 T Ol . ] =

| <)T(YP) L1 n |;| —

6-1/2" (TYP.)
FBS-***-SQR
* Insert appropriate size
Full Base Covers
Catalog Number "X" (in)

FBS-600-RND 3.00
FBS-700-RND 3.50
FBS-800-RND 4.00
FBS-850-RND 4.25
FBS-900-RND 4.50
FBS-400-SQR 2.00
FBS-500-SQR 2.50
FBS-600-SQR ___ 3.00
FHONEB‘I7‘-44‘I—96:B FBS_?OO_SQR 3-50

WWW.MAVERICKPOLES.COM

POLES AND STRUCTURE, LLC. FBS'SOO'SQR 4.00



PWooten
Typewritten Text
-  HARD MOLDED PLASTIC

PWooten
Typewritten Text


	013 Bullhorns.1Light.2Light
	014 Bullhorns.2Light.3Light
	015 Bullhorns.3Light.4Light
	016 Bullhorns.4Light.5Light
	024 SpokeArms.1.2.3Light
	025 SpokeArms.3.4.5Light
	026 UpSweptArms.1Light.2Light
	027 UpSweptArms.3Light.4Light



